09.91407.000

| 26/08/85

FOCUSK

KOORD 28 O .

(xIDIN 7991 M6x20 §

5150-/01

15140 \
sy Ny
150754 X

1; 1 ;E-& i % DN 934

15076 A J
y& 150734 @

15601 4

KOORD 98

{6xIDIN963 MBx30 .

FOCUS M \ 150754 %
150764 a :
a@& = L

FOCUS K

_15530+/02
BIDNSS! Hx25
17411 2x -l

0260620 e-/

{2x)DM660 98 x 40

PASSCHROEF M5x6 1 J0 /
StPs )

KOORD 95
- 15221
X00RD 8 4
PASSCHROEF MSx53,10 % VS
: L tix} DIN 933 M6 x10
SLPS ) - , b
\// TV 1) 01N 439 M8
15200A/01 N : ) f Ux) PTN S
ASY 5/01 p} '
2x)ON%21488 T
(2Xi0IN 939 MR35 : -
(2xJOINB0_ME

{4x]OINGOZIA 88 |
(4x)0IN 936 M8

www.pieces-de-poele.com

- N

2x) OIN_933 M6 x 10

O 963 M§ x 1§

R OIN 934 M6
TMS 5
_LUS S

{2x) bus 6 XI5

N__HS 15952

N

RN 15540-/02

{2x)DIN 933 M8x35
(2x)OIN 125 28
15180
15181



N° schema

Intitulé

Référence

15072 15072 SUPPORT POT DE FEU FOCUS 70.77201.000
026042_0 |26042.0 VITRE 900 G 70.26042.000
15030-/01 | 15030 GRILLE 70.61108.000
15060A 15060A CORBEILLE 70.77108.000
15073A 15073 CORBEILLE SUPPORT ARRIERE FOCUS 70.77202.000
15074A 15074 CORBEILLE SUPPORT DROITE FOCUS 70.77203.000
15075A 15075 CORBEILLE SUPPORT GAUCHE FOCUS 70.77204.000
15170-/01 | ANNEAU DE TREMIE 15170 FOCUS 70.13501.000
15171-/01 | ANNEAU DE TREMIE 15171 FOCUS 70.13502.000
PASSCHRO| 10 p GOUJON M5x6x10 - 16301.0 70.16301.000
PTN5 52216.0 PIED FOCUS 70.52216.020
S05201_0 |05201.0 bac a cendres focus 900g 70.05201.000




	09-91407-000-FOCUS
	09-91407-000-FOCUS_P2
	Liste_pieces_en_cours2




